201719115 SHEEY M OB B R RR TAF RSN RIE(L)
S E/N OGAE R/ TR E B TAF B R EHE (1)
AT LA 1060206443

WERERg: 106.09.15 13:30 ~ 106.09.15 16:30

IEHUA#E: 30 (HHLAE : 0
HIETHHA: 106/09/15 23:11

HX  EEEr Z2EHH FIRER
Hribm=%=
1 EEEFR RBEeH 106/09/15 13:40
=
Hitm=%
2 BEERHR REE 106/09/15 13:41
JINER
itm=%=
3 EEERHR EESE 106/09/15 13:41
JINEE,
¥itm=%&
4 EEFEHER ZHEHkK 106/09/15 13:42
JINEE,
itm=%
5 EHEHE REH 106/09/15 13:37
N
Hritm=%
6 EEEHR FELE 106/09/15 13:49
IINEE
Hritm=%
7 EEEFRR EHE 106/09/15 13:37
JINEE
Hritm=%
8 EEEHR ooy 106/09/15 15:15
JINER
Hritm=%
9 EEHEERR ZHEY 106/09/15 13:49
JINEE
¥ritm=%
10 EEEHRE B 106/09/15 13:38
/NEE
Hribm==
11 EEHEFRK OEE 106/09/15 13:36
JINEE
#ritm==
12 EEEFRE  #HiEE 106/09/15 13:55
JINEE
#ribm==
13 EEEHRK FHIFE 106/09/15 13:37
N=-
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